
Express each square as a trinomial.
61. (g + 7)2

65. (2m 13n)2

Factor.

69. x2 - 6x-* 9
72. 64f + 80ry + 25y2

62. (k - ,2 63. (2x + O2
66. (7a - 5D2 67. (ef - 8)2

70. e2 + l8e + 8l 71.
73. 4m2 - 36mn -l 8ln2 74.

(s-6)

64. (5y - 3)2

68. (-4 + ef)'

(s-6)

4-28h+49h2
l6w2+24w2*9zz

Factor. Check by multiplying the factors. If the polynomial is not
factorable, write prime.

75.P+8r+7 76.
78. 35 * l2u I u2u 19.
Sl. f + Bry *42y2 82.
E4.c2*3c-t8 \gs.

1'87. h2 - 7h'- t8 gg.

9o. a2 - 2ab - 3bz 1gt.
93. 2f t ttx ! t2 94.
96. -10 - 26y - l2y2 97.
99. tsl + 13ry + 2y2 100.

Factor. Check by multiplying.
102. 8(m - 3) - 5m(3 - m)
104. u(u - 2v) - (2v - u)
lO6.a2*2a*abI2b
108.13*n2-6n-6

Factor completely. Check by multiplying.
llo. 42x3 + 68x2 + 16x 111. 60y3 - tgy2 - 6y ll2.
ll3. t6aa - 144a2 ll4. 4ns - l00n 115.
116. 36m2 * 24mn * 4n2 ll7. 24cd - l2c2 - t2d2 1lg.

v2-9v+20 77.
n2 - t6n + 48 80.
m2 - l\mn -f 2ln2 83.
f -u-ts 86.
b2+7b-30 x9.
u2 + 3uv - 4v2 92.
toe2-t2er3 Y gS.

-7 - 392 - l8z2 98.
8a2 - 22ab + l2b2 tot.

(5-7, 5-E, 5-9)

a2-za+l
w2+l8w+80
e2-tsey+44f2
t?+gt(-lz
y2-+y-45
m2-mn-2On2
todz+d-3
-10+242-822
l4m2-mn-3n2

Solve and check.

ll9. (a + l3)(a + 8) :0
122. (6h - 5)(6h * 5) = g
125. a2t7a*6:O
128.y2-7y-18:0
131.6-232-422:O
134. e2 - 49: O

120. (f - t6)(f - 27): g t2t.
123.7w(4w+3):O 124.
126. qz - 2lq: -29 127.
129. c2 - 36 : -5c 130.
132. 3mz r t:4m 133.
135. 3692: 16 136.

103. 6a(a + 2) + 4(a + 2)
105.b(b-2)(b+1)-3-3b
107. 7cw * 3c - 7w2 - 3w
109. 64 - 64m2 * ma - m6

(s-10)

(s-11)

r2rs-20x4+3x3
28w7 - l02ws

-'7x3+l4xzy-7ry2

(s-r2)

Qx-DGx-5):0
m(2mI7)(3m-4):0
d2: l4d - 45
i':-ztt+s+
2n2:10*n
w3-9w:o

Extra Practice


